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ructions : All questions are compulsory. There are 22 questions.
(i) W1 FOH 19 7 9% Hfaery Ity v § 1 v@F e § 1 3 Fivifa &
Question Nos. 1 to 7 are very short answer type questions. Each
question carries | mark.
(ii) W FHE 8 W 13 9% 7Y Iv09 ¥ 1 vl WA § 3 o7 Fvifia §

(I F1 T=-HH 50 2] o &)
Question Nos. 8 to 13 are short answer type questions. Each question
carries 3 marks. (Maximum word-limit of answer is 50 words)

(iv) ¥ A 14 8 20 T 9 3007 W9 § 1 94 w7 F 5 o Pyl §
(I F v=-"h1 150 I 7= })

Question Nos. 14 to 20 are long answer type questions. Each question
carries 5 marks. (Maximum word-limit of answer is /50 words)

(v) W HH® 10, 16, 18, 20 T 22 § saftw fawey fag mu #
In Question Nos. 10, 16, 18, 20 and 22 internal options are given.
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Visally \mpaired stodents will write 1-1 point of specishity of th,,

pl":“lilllhem. i H
i p-making questions. .

Mot

'learing impaircd students will write the long answer 1YPC questig,,
_"th pointy only.
twn‘}miﬂh—n m::mm“m!'mmﬂhﬁﬁ
TEWTY TN 3t e wen § 1w e 5 b Proffea €

Quesyon Nos. 21 and 22 are related 1o identification or locating ang
Iabellin f ; h on.
N""P- carrying § marks in cach quest —
"‘“%mmﬂrﬂmkM-ﬂwt? i

hung; .
HAting and fooqd Collection belongs to which activity?
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According 1o the Census of 2011, which state of India has the highest
POpulation?

-5 w30 o dhnh o i $ i
Why are sugar industries a scasonal indusiry?

-6 - Ly W Wi 2wl & e [Vt
Wrtle the names of two crops which are Kharif agriculture. |
wA-7 'mm'm'mm-mqmmmm. [!astis:
Write one example of ‘melallic mineral® and ‘non-metallic mineral".
vT-8  wer H &0 wit’ @) T @ st ® wt aifag (141413
Describe any three characteristics of *dairy farming’ in the world.
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[1+1+1=3)

How do countrics derive benefits from international trade (any dhree)?

719 - UfEe Yemet gt qw fropoi fafag (v dr fag) |
Write 8 note on the Trans-Andean Railway (any rhree points).

NN
OR

sfidz wwrim Yo W fropoft g
Write a note on the Orient Express Railway.
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(37) v& wnfiw e wfrew & am fafag
(@) WRufesywpl e €7
(%) va viirey & 7w fardvwen farfarg )

Study the diagram given below and answer the questions

W

(@) Wrile the name of the rural settlement patiern.
(5) In which arcas do you find the rura) settiement ?

(¢) Wrile one charactenstic feature ofthcmmpmm

[1+1+1=3]

[1+]+]1=3]
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U-12  wma & yaw & snfde afromat W s wifag (w AP | [Tl y,

Explain the economic consequences of migration in India (any rAree)

wM-13  ffen thil w3 w e feew § g 23 & fag w
= 3w qeme [1ele1=y)

Suggest any three measures to promotc sustainable nutnent

development in the Indira Gandhi Canal Command Arca

m-14 ﬂmﬂmﬁﬁ-ﬁﬂmaﬁt?ﬂhmmmﬂ#
AITE R WHRY | [1+242=5]
Which businesses come 1n the scrvice sector? Briefly explain through
the chan.
w™-1s mﬂmmﬂmtmmfmﬂﬂhMaﬁw
wifay [1%5=5]
Explain any five factors responsible for depletion of water resources
in India. hitps:/ www.cgboardonline.com
WwA-16  ITREm Afg @ wm awwd ¥ 2 wrw § avwen 1wy &)
wifag [1+1414141=5)
What 1s meant by population growth? Describe the phases of
population growth in India.
ey
OR
T B 2011 F @ T & vfeva fre £ 2 v o o T 3 o
WI&Y H) WEREY (F W feg) [1+4=3]

How much female literacy rate in India in 2011 Explain the local

pattern of female literacy of India (any fowr points).
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Define human Beography and explain the naturalization of man.

TORE v fiftew e fed wed €7 st o e fiensdl o
w0 = € (wrf A 2 [1+1+3=5]

What are primary and secondary activities? What are the differences

between primary and secondary activities (any three)?

e
OR

WHT o wufer * drqw i fe whe faiamei w1 vl )
[1+1+1+1+1=5})

Describe any five features of ‘plantation agriculture’ practised
in the world.

wRa § 3o # frafa # nafa 50 oR 5T oe s @ 9l

HiTAY | [141+141+1=5]
Describe any five factors that fluence the location of industries

in India.

gy F faard sem A o, @ F W w0 yvm ggm 2 fafeg

(& vl [L+1+]+1+]=5)

Where there was no irrigation facilities in Chhattisgarh, agriculture
would have been affected. Write what effects (any five).

war
OR

mqﬂfqmmmmwﬂwmw,

Describe the major minerals available in € hhattisparh
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wEwfig v 3 A Tw-fenn 9 e
(A) i wafoe & wwd W SR e 3
(B} 7fR- T Yeraet w1 1w RAH W
() v im fed

(D) T dwdehn varf axm

(E) &% Wy W

In the given pokitical outline map of the world, identify following

points and write their names in your answer-book
{A) The largest country in South America in area

(B) Name of the first suation of the Trans-Siberian Railway

(C) A mega city
(D) An international airpon

(E) A major sea pont
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m-mﬂm: [1+141+141=5]

(B) 3 (W) w1 oy srveas e

(C) vy o nfew qaueh

(D) wdremy = firen

(E) wHitey w1 v ww weyfiriam wm

In the sign marked map of Chhattisgarh, identify the following and
write their names in your answer-book

(A} Main tributary river of Mahanadi

(B) lron-ore mine of Durg (Balod)

(C) The judicial capital in Chhattisgarh

(I3} The Shimla of Chhattisgarh

(E) A prominent aluminium indusiry of Chhattisgarh
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(A) YRA % wwd Afuw YIFS TN T

(D) w& T

(E) WITa 1 TERE 8

in the given political outline map of India, locate and label the
following with symbols :

(A) The state having highest area in India

(B) Aravalli Mountain



